
(M4x6 screw) x4

(M4x6 screw)  x6

(M8x16 screw) x2

(M6x16 screw) x2

(M6 lockwasher) x2

(M8x16 screw) x4

(M6x16 screw) x4

(M6 lockwasher) x4

(M10x20 screw) x2

(M8x20 screw) x2

(M8x20 lockwasher) x2

(M8x16 screw) x6

(M6x16 screw) x6

(M6 lockwasher) x6

(M8x20 screw) x4

(M8x20 lockwasher) x4

(M8 hexnut) x2

(M12x25 screw) x2

(M10x20 screw) x8

(M8 hexnut) x4

(M10 split lockwasher) x8

(M8x16 screw) x8

(M6x16 screw) x8

(M6 lockwasher) x8

(M8x20 screw) x4

(M8x20 lockwasher) x4

(M12x25 screw) x2

(M8 hexnut) x4

(M10x20 screw) x8

(M10 split lockwasher) x8

0° 10°

0° 10°

15°

7.5° 0° 0°

7
.5

°

0° 1
0
°

15°

7.5°

1
5
°

0°

15
° 0°

7.5°

0° 1
0
°

15°

7.5°

0°

15
° 0°

7.5°

Assembly instructions


